D. C					Engineer	's Estimate	Conie C	Construction Co
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Materials	Labor
		Driveway Pavement Repl., Type III						
1	259	A	5	CY	\$500.00	\$2,500.00	\$100.00	\$400.00
		Driveway Pavement Repl., Type III						
2	259	В	5	CY	\$500.00	\$2,500.00	\$200.00	\$550.00
		Driveway Pavement Repl., Type III						
3	259	C	5	CY	\$70.00	\$350.00	\$28.00	\$7.00
4	605	4" Underdrain	50	LF	\$10.00	\$500.00	\$1.00	\$4.00
5	608	Concrete Walk 4"	500	SF	\$30.00	\$15,000.00	\$3.00	\$22.00
6	609	Curb, Straight 18"	50	LF	\$40.00	\$2,000.00	\$10.00	\$40.00
		Combination Curb & Gutter, Type						
7	609	Standard	30	LF	\$40.00	\$1,200.00	\$10.00	\$40.00
8	659	Seeding & Mulching	300	SY	\$6.00	\$1,800.00	\$1.00	\$4.00
		Concrete Blocking Class C, Increase						
9	801	or Decrease	10	CY	\$125.00	\$1,250.00	\$125.00	\$25.00
10	815	Crushed Stone or Gravel	10	CY	\$35.00	\$350.00	\$35.00	\$65.00
		3/4" Water Service Tap, Complete,						
11	SPEC	Short	10	EA	\$2,200.00	\$22,000.00	\$0.00	\$2,600.00
		1" Water Service Tap, Complete,						
12	SPEC	Short	2	EA	\$2,300.00	\$4,600.00	\$0.00	\$2,600.00
		1-1/2" Water Service Tap,						
13	SPEC	Complete, Short	1	EA	\$2,400.00	\$2,400.00	\$0.00	\$2,600.00
		2" Water Service Tap, Complete,						
14	SPEC	Short	1	EA	\$2,500.00	\$2,500.00	\$0.00	\$2,600.00
		3/4" Water Service Tap, Complete,						
15	SPEC	Long	6	EA	\$2,500.00	\$15,000.00	\$0.00	\$2,900.00
		1" Water Service Tap, Complete,						
16	SPEC	Long	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,900.00

					Engineer	's Estimate	Conie C	onstruction Co
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Materials	Labor
		1-1/2" Water Service Tap,						
17	SPEC	Complete, Long	1	EA	\$2,700.00	\$2,700.00	\$0.00	\$2,900.00
		2" Water Service Tap, Complete,						
18	SPEC	Long	1	EA	\$2,750.00	\$2,750.00	\$0.00	\$2,900.00
19	SPEC	3/4" Water Service Repair	10	EA	\$2,100.00	\$21,000.00	\$0.00	\$2,600.00
20	SPEC	1" Water Service Repair	2	EA	\$2,200.00	\$4,400.00	\$0.00	\$2,600.00
21	SPEC	1-1/2" Water Service Repair	1	EA	\$2,300.00	\$2,300.00	\$0.00	\$2,600.00
22	SPEC	2" Water Service Repair	1	EA	\$2,400.00	\$2,400.00	\$0.00	\$2,600.00
23	SPEC	4" Point Repair With Clamp	1	EA	\$3,200.00	\$3,200.00	\$0.00	\$2,700.00
24	SPEC	6" Point Repair With Clamp	12	EA	\$3,500.00	\$42,000.00	\$0.00	\$2,700.00
25	SPEC	8" Point Repair With Clamp	2	EA	\$3,700.00	\$7,400.00	\$0.00	\$2,700.00
26	SPEC	12" Point Repair With Clamp	1	EA	\$3,800.00	\$3,800.00	\$0.00	\$2,700.00
27	SPEC	16" Point Repair With Clamp	1	EA	\$4,000.00	\$4,000.00	\$0.00	\$2,700.00
		4" Point Repair With Pipe &						
28	SPEC	Couplings	1	EA	\$3,000.00	\$3,000.00	\$0.00	\$2,700.00
		6" Point Repair With Pipe &				,		
29	SPEC	Couplings	10	EA	\$3,100.00	\$31,000.00	\$0.00	\$2,700.00
		8" Point Repair With Pipe &				,		
30	SPEC	Couplings	2	EA	\$3,200.00	\$6,400.00	\$0.00	\$2,700.00
		12" Point Repair With Pipe &				. ,		,
31	SPEC	Couplings	1	EA	\$3,500.00	\$3,500.00	\$0.00	\$2,700.00
		16" Point Repair With Pipe &				. ,		,
32	SPEC	Couplings	1	EA	\$4,000.00	\$4,000.00	\$0.00	\$2,700.00
		Law Enforcement Officer As				. ,		
33	SPEC	Required	40	HR	\$75.00	\$3,000.00	\$0.00	\$70.00
		Maintaining Traffic, per Repair w/o				. ,		
34		Lane Closure	35	EA	\$200.00	\$7,000.00	\$0.00	\$15.00
		Maintaining Traffic, per Repair				. ,		·
35	SPEC	w/Lane Closure	35	EA	\$250.00	\$8,750.00	\$0.00	\$40.00
36	SPEC	Temporary Pavement	100	SY	\$30.00	\$3,000.00	\$15.00	\$10.00
37		Permanent Pavement	100	CY	\$550.00	\$55,000.00	\$200.00	\$475.00

					Engineer	's Estimate	Conie C	Construction Co
Ref.						S Estimate		
No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Materials	Labor
38	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$10.00	\$50.00
39	SPEC	Backfill For Emergency Repairs	600	CY	\$80.00	\$48,000.00	\$75.00	\$20.00
40	SPEC	Increase or Decrease in Excavation	200	CY	\$30.00	\$6,000.00	\$0.00	\$25.00
41	SPEC	Topsoil Furnished and Placed	50	CY	\$65.00	\$3,250.00	\$30.00	\$20.00
42	SPEC	Evening or Saturday Work Add-On	20	CREW HR	\$150.00	\$3,000.00	\$0.00	\$100.00
43	SPEC	Sunday Work Add-On	10	CREW HR	\$300.00	\$3,000.00	\$0.00	\$150.00
		Pipeline Installation Crew &						
44	SPEC	Equipment	100	HR	\$400.00	\$40,000.00	\$0.00	\$275.00
45	SPEC	Curb Ramp	5	EA	\$5,000.00	\$25,000.00	\$400.00	\$350.00
46	SPEC	Asbestos Pipe Repair and Disposal	3	EA	\$5,000.00	\$15,000.00	\$0.00	\$3,000.00
		Pipeline Materials for Water Main						
		Installations, Invoiced amount(s)						
47	SPEC	plus 15%	1	LS	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00
		SUBTOTAL				\$490,500.00		
		Contingency (10%)				\$49,050.00		
		GRAND TOTAL				\$539,550.00		
Q	% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE						
	% DIF	FERENCE WITHIN LOWEST BIDDER						
		(0) Addendum Ackldgmnt. Completed?						
		Contract Compliance No.					(31-0800904 (3/2
	Bid	Proposal Signature Affidavit Completed?						
	Bonding Company (Form B2)							Ohio Fa
	Proposed Subs listed?							
	Bid Affidavit Complete? (Form B9)							
	Prime	& (applicable) Subs Prequalified to Bid?						

					Engineer	's Estimate). (local)
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
		Driveway Pavement Repl., Type III					
1	259	A	5	CY	\$500.00	\$2,500.00	\$2,500.00
		Driveway Pavement Repl., Type III				·	
2	259	В	5	CY	\$500.00	\$2,500.00	\$3,750.00
		Driveway Pavement Repl., Type III					
3	259	C	5	CY	\$70.00	\$350.00	\$175.00
4	605	4" Underdrain	50	LF	\$10.00	\$500.00	\$250.00
5	608	Concrete Walk 4"	500	SF	\$30.00	\$15,000.00	\$12,500.00
6	609	Curb, Straight 18"	50	LF	\$40.00	\$2,000.00	\$2,500.00
		Combination Curb & Gutter, Type					
7	609	Standard	30	LF	\$40.00	\$1,200.00	\$1,500.00
8	659	Seeding & Mulching	300	SY	\$6.00	\$1,800.00	\$1,500.00
		Concrete Blocking Class C, Increase					
9	801	or Decrease	10	CY	\$125.00	\$1,250.00	\$1,500.00
10	815	Crushed Stone or Gravel	10	CY	\$35.00	\$350.00	\$1,000.00
		3/4" Water Service Tap, Complete,					
11	SPEC	Short	10	EA	\$2,200.00	\$22,000.00	\$26,000.00
		1" Water Service Tap, Complete,					
12	SPEC	Short	2	EA	\$2,300.00	\$4,600.00	\$5,200.00
		1-1/2" Water Service Tap,					
13	SPEC	Complete, Short	1	EA	\$2,400.00	\$2,400.00	\$2,600.00
		2" Water Service Tap, Complete,					
14	SPEC	Short	1	EA	\$2,500.00	\$2,500.00	\$2,600.00
		3/4" Water Service Tap, Complete,					
15	SPEC	Long	6	EA	\$2,500.00	\$15,000.00	\$17,400.00
		1" Water Service Tap, Complete,					
16	SPEC	Long	2	EA	\$2,600.00	\$5,200.00	\$5,800.00

					Engineer	's Estimate	o. (local)
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
		1-1/2" Water Service Tap,					
17	SPEC	Complete, Long	1	EA	\$2,700.00	\$2,700.00	\$2,900.00
		2" Water Service Tap, Complete,					
18	SPEC	Long	1	EA	\$2,750.00	\$2,750.00	\$2,900.00
19	SPEC	3/4" Water Service Repair	10	EA	\$2,100.00	\$21,000.00	\$26,000.00
20	SPEC	1" Water Service Repair	2	EA	\$2,200.00	\$4,400.00	\$5,200.00
21	SPEC	1-1/2" Water Service Repair	1	EA	\$2,300.00	\$2,300.00	\$2,600.00
22	SPEC	2" Water Service Repair	1	EA	\$2,400.00	\$2,400.00	\$2,600.00
23	SPEC	4" Point Repair With Clamp	1	EA	\$3,200.00	\$3,200.00	\$2,700.00
24	SPEC	6" Point Repair With Clamp	12	EA	\$3,500.00	\$42,000.00	\$32,400.00
25	SPEC	8" Point Repair With Clamp	2	EA	\$3,700.00	\$7,400.00	\$5,400.00
26	SPEC	12" Point Repair With Clamp	1	EA	\$3,800.00	\$3,800.00	\$2,700.00
27	SPEC	16" Point Repair With Clamp	1	EA	\$4,000.00	\$4,000.00	\$2,700.00
		4" Point Repair With Pipe &					
28	SPEC	Couplings	1	EA	\$3,000.00	\$3,000.00	\$2,700.00
		6" Point Repair With Pipe &					
29	SPEC	Couplings	10	EA	\$3,100.00	\$31,000.00	\$27,000.00
		8" Point Repair With Pipe &					
30	SPEC	Couplings	2	EA	\$3,200.00	\$6,400.00	\$5,400.00
		12" Point Repair With Pipe &					
31	SPEC	Couplings	1	EA	\$3,500.00	\$3,500.00	\$2,700.00
		16" Point Repair With Pipe &					
32	SPEC	Couplings	1	EA	\$4,000.00	\$4,000.00	\$2,700.00
		Law Enforcement Officer As					
33	SPEC	Required	40	HR	\$75.00	\$3,000.00	\$2,800.00
		Maintaining Traffic, per Repair w/o					
34	SPEC	Lane Closure	35	EA	\$200.00	\$7,000.00	\$525.00
		Maintaining Traffic, per Repair					
35	SPEC	w/Lane Closure	35	EA	\$250.00	\$8,750.00	\$1,400.00
36	SPEC	Temporary Pavement	100	SY	\$30.00	\$3,000.00	\$2,500.00
37	SPEC	Permanent Pavement	100	CY	\$550.00	\$55,000.00	\$67,500.00

					Enginee	r's Estimate	o. (local)
Ref.					21.8		(10002)
No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
38	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$6,000.00
39	SPEC	Backfill For Emergency Repairs	600	CY	\$80.00	\$48,000.00	\$57,000.00
40	SPEC	Increase or Decrease in Excavation	200	CY	\$30.00	\$6,000.00	\$5,000.00
41	SPEC	Topsoil Furnished and Placed	50	CY	\$65.00	\$3,250.00	\$2,500.00
42	SPEC	Evening or Saturday Work Add-On	20	CREW HR	\$150.00	\$3,000.00	\$2,000.00
43	SPEC	Sunday Work Add-On	10	CREW HR	\$300.00	\$3,000.00	\$1,500.00
		Pipeline Installation Crew &					
44	SPEC	Equipment	100	HR	\$400.00	\$40,000.00	\$27,500.00
45	SPEC	Curb Ramp	5	EA	\$5,000.00	\$25,000.00	\$3,750.00
46	SPEC	Asbestos Pipe Repair and Disposal	3	EA	\$5,000.00	\$15,000.00	\$9,000.00
		Pipeline Materials for Water Main					
		Installations, Invoiced amount(s)					
47	SPEC	plus 15%	1	LS	\$40,000.00	\$40,000.00	·
		SUBTOTAL				\$490,500.00	\$444,350.00
		Contingency (10%)				\$49,050.00	\$44,435.00
		GRAND TOTAL				\$539,550.00	\$488,785.00
Ģ	% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE					-9.41%
	% DIF	FERENCE WITHIN LOWEST BIDDER					n/a
		(0) Addendum Ackldgmnt. Completed?					n/a
		Contract Compliance No.					/19 MAJ, 4320)
	Bid	Proposal Signature Affidavit Completed?					yes
	Bonding Company (Form B2)						ırmers Insurance
	Proposed Subs listed?						yes
		Bid Affidavit Complete? (Form B9)					yes
	Prime	& (applicable) Subs Prequalified to Bid?					yes

					Engineer	's Estimate	Travco Co	nstruction, Inc
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Materials	Labor
		Driveway Pavement Repl., Type III						
1	259	A	5	CY	\$500.00	\$2,500.00	\$460.00	\$0.00
		Driveway Pavement Repl., Type III						
2	259	В	5	CY	\$500.00	\$2,500.00	\$460.00	\$0.00
		Driveway Pavement Repl., Type III						
3	259	C	5	CY	\$70.00	\$350.00	\$460.00	\$0.00
4	605	4" Underdrain	50	LF	\$10.00	\$500.00	\$8.00	\$0.00
5	608	Concrete Walk 4"	500	SF	\$30.00	\$15,000.00	\$13.00	\$0.00
6	609	Curb, Straight 18"	50	LF	\$40.00	\$2,000.00	\$35.00	\$0.00
		Combination Curb & Gutter, Type						
7	609	Standard	30	LF	\$40.00	\$1,200.00	\$35.00	\$0.00
8	659	Seeding & Mulching	300	SY	\$6.00	\$1,800.00	\$5.00	\$0.00
		Concrete Blocking Class C, Increase						
9	801	or Decrease	10	CY	\$125.00	\$1,250.00	\$150.00	\$0.00
10	815	Crushed Stone or Gravel	10	CY	\$35.00	\$350.00	\$120.00	\$0.00
		3/4" Water Service Tap, Complete,						
11	SPEC	Short	10	EA	\$2,200.00	\$22,000.00	\$0.00	\$2,100.00
		1" Water Service Tap, Complete,						
12	SPEC	Short	2	EA	\$2,300.00	\$4,600.00	\$0.00	\$2,300.00
		1-1/2" Water Service Tap,						
13	SPEC	Complete, Short	1	EA	\$2,400.00	\$2,400.00	\$0.00	\$1,800.00
		2" Water Service Tap, Complete,						
14	SPEC	Short	1	EA	\$2,500.00	\$2,500.00	\$0.00	\$1,800.00
	_	3/4" Water Service Tap, Complete,						
15	SPEC	Long	6	EA	\$2,500.00	\$15,000.00	\$0.00	\$2,700.00
		1" Water Service Tap, Complete,						
16	SPEC	Long	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,900.00

					Engineer	's Estimate	Travco Co	nstruction, Inc
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Materials	Labor
		1-1/2" Water Service Tap,			1			
17	SPEC	Complete, Long	1	EA	\$2,700.00	\$2,700.00	\$0.00	\$3,000.00
		2" Water Service Tap, Complete,						
18	SPEC	Long	1	EA	\$2,750.00	\$2,750.00	\$0.00	\$3,000.00
19	SPEC	3/4" Water Service Repair	10	EA	\$2,100.00	\$21,000.00	\$0.00	\$1,200.00
20	SPEC	1" Water Service Repair	2	EA	\$2,200.00	\$4,400.00	\$0.00	\$1,200.00
21	SPEC	1-1/2" Water Service Repair	1	EA	\$2,300.00	\$2,300.00	\$0.00	\$1,200.00
22	SPEC	2" Water Service Repair	1	EA	\$2,400.00	\$2,400.00	\$0.00	\$1,200.00
23	SPEC	4" Point Repair With Clamp	1	EA	\$3,200.00	\$3,200.00	\$0.00	\$3,200.00
24	SPEC	6" Point Repair With Clamp	12	EA	\$3,500.00	\$42,000.00	\$0.00	\$5,000.00
25	SPEC	8" Point Repair With Clamp	2	EA	\$3,700.00	\$7,400.00	\$0.00	\$5,000.00
26	SPEC	12" Point Repair With Clamp	1	EA	\$3,800.00	\$3,800.00	\$0.00	\$5,000.00
27	SPEC	16" Point Repair With Clamp	1	EA	\$4,000.00	\$4,000.00	\$0.00	\$5,000.00
		4" Point Repair With Pipe &						
28	SPEC	Couplings	1	EA	\$3,000.00	\$3,000.00	\$0.00	\$2,800.00
		6" Point Repair With Pipe &						
29	SPEC	Couplings	10	EA	\$3,100.00	\$31,000.00	\$0.00	\$2,900.00
		8" Point Repair With Pipe &						
30	SPEC	Couplings	2	EA	\$3,200.00	\$6,400.00	\$0.00	\$3,400.00
		12" Point Repair With Pipe &						
31	SPEC	Couplings	1	EA	\$3,500.00	\$3,500.00	\$0.00	\$3,400.00
		16" Point Repair With Pipe &						
32	SPEC	Couplings	1	EA	\$4,000.00	\$4,000.00	\$0.00	\$3,400.00
		Law Enforcement Officer As						
33	SPEC	Required	40	HR	\$75.00	\$3,000.00	\$0.00	\$85.00
		Maintaining Traffic, per Repair w/o						
34	SPEC	Lane Closure	35	EA	\$200.00	\$7,000.00	\$0.00	\$55.00
		Maintaining Traffic, per Repair						
35	SPEC	w/Lane Closure	35	EA	\$250.00	\$8,750.00	\$0.00	\$100.00
36	SPEC	Temporary Pavement	100	SY	\$30.00	\$3,000.00	\$25.00	\$0.00
37	SPEC	Permanent Pavement	100	CY	\$550.00	\$55,000.00	\$475.00	\$0.00

					Engineer	's Estimate	Travco Coi	nstruction, In
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Materials	Labor
38	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$50.00	\$0.00
39	SPEC	Backfill For Emergency Repairs	600	CY	\$80.00	\$48,000.00	\$90.00	\$0.00
40	SPEC	Increase or Decrease in Excavation	200	CY	\$30.00	\$6,000.00	\$0.00	\$35.00
41	SPEC	Topsoil Furnished and Placed	50	CY	\$65.00	\$3,250.00	\$35.00	\$0.00
42	SPEC	Evening or Saturday Work Add-On	20	CREW HR	\$150.00	\$3,000.00	\$0.00	\$200.00
43	SPEC	Sunday Work Add-On	10	CREW HR	\$300.00	\$3,000.00	\$0.00	\$200.00
		Pipeline Installation Crew &						
44	SPEC	Equipment	100	HR	\$400.00	\$40,000.00	\$0.00	\$450.00
45	SPEC	Curb Ramp	5	EA	\$5,000.00	\$25,000.00	\$350.00	\$1,500.00
46	SPEC	Asbestos Pipe Repair and Disposal	3	EA	\$5,000.00	\$15,000.00	\$0.00	\$2,500.00
		Pipeline Materials for Water Main						
		Installations, Invoiced amount(s)						
47	SPEC	plus 15%	1	LS	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00
		SUBTOTAL				\$490,500.00		
		Contingency (10%)				\$49,050.00		
		GRAND TOTAL				\$539,550.00		
(% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE						
	% DIF	FERENCE WITHIN LOWEST BIDDER						
		(0) Addendum Ackldgmnt. Completed?						
		Contract Compliance No.					71-	0948514 (3/17
	Bid	Proposal Signature Affidavit Completed?						
		Bonding Company (Form B2)						Nationwide I
		Proposed Subs listed?						
		Bid Affidavit Complete? (Form B9)						
	Prime	& (applicable) Subs Prequalified to Bid?						

1. Corrected Contingency & G

					Engineer	's Estimate	c. (not local)
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
		Driveway Pavement Repl., Type III					
1	259	A	5	CY	\$500.00	\$2,500.00	\$2,300.0
		Driveway Pavement Repl., Type III					
2	259	В	5	CY	\$500.00	\$2,500.00	\$2,300.0
		Driveway Pavement Repl., Type III					
3	259	C	5	CY	\$70.00	\$350.00	\$2,300.0
4	605	4" Underdrain	50	LF	\$10.00	\$500.00	\$400.0
5	608	Concrete Walk 4"	500	SF	\$30.00	\$15,000.00	\$6,500.0
6	609	Curb, Straight 18"	50	LF	\$40.00	\$2,000.00	\$1,750.0
		Combination Curb & Gutter, Type					
7	609	Standard	30	LF	\$40.00	\$1,200.00	\$1,050.0
8	659	Seeding & Mulching	300	SY	\$6.00	\$1,800.00	\$1,500.0
		Concrete Blocking Class C, Increase					
9	801	or Decrease	10	CY	\$125.00	\$1,250.00	\$1,500.0
10	815	Crushed Stone or Gravel	10	CY	\$35.00	\$350.00	\$1,200.0
		3/4" Water Service Tap, Complete,					
11	SPEC	Short	10	EA	\$2,200.00	\$22,000.00	\$21,000.0
		1" Water Service Tap, Complete,					
12	SPEC	Short	2	EA	\$2,300.00	\$4,600.00	\$4,600.0
		1-1/2" Water Service Tap,					
13	SPEC	Complete, Short	1	EA	\$2,400.00	\$2,400.00	\$1,800.0
		2" Water Service Tap, Complete,					
14	SPEC	Short	1	EA	\$2,500.00	\$2,500.00	\$1,800.0
		3/4" Water Service Tap, Complete,					
15	SPEC	Long	6	EA	\$2,500.00	\$15,000.00	\$16,200.0
		1" Water Service Tap, Complete,					
16	SPEC	Long	2	EA	\$2,600.00	\$5,200.00	\$5,800.0

					Engineer	's Estimate	c. (not local)
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
		1-1/2" Water Service Tap,					
17	SPEC	Complete, Long	1	EA	\$2,700.00	\$2,700.00	\$3,000.00
		2" Water Service Tap, Complete,					
18	SPEC	Long	1	EA	\$2,750.00	\$2,750.00	\$3,000.00
19	SPEC	3/4" Water Service Repair	10	EA	\$2,100.00	\$21,000.00	\$12,000.00
20	SPEC	1" Water Service Repair	2	EA	\$2,200.00	\$4,400.00	\$2,400.00
21	SPEC	1-1/2" Water Service Repair	1	EA	\$2,300.00	\$2,300.00	\$1,200.00
22	SPEC	2" Water Service Repair	1	EA	\$2,400.00	\$2,400.00	\$1,200.00
23	SPEC	4" Point Repair With Clamp	1	EA	\$3,200.00	\$3,200.00	\$3,200.00
24	SPEC	6" Point Repair With Clamp	12	EA	\$3,500.00	\$42,000.00	\$60,000.00
25	SPEC	8" Point Repair With Clamp	2	EA	\$3,700.00	\$7,400.00	\$10,000.00
26	SPEC	12" Point Repair With Clamp	1	EA	\$3,800.00	\$3,800.00	\$5,000.00
27	SPEC	16" Point Repair With Clamp	1	EA	\$4,000.00	\$4,000.00	\$5,000.00
		4" Point Repair With Pipe &					
28	SPEC	Couplings	1	EA	\$3,000.00	\$3,000.00	\$2,800.00
		6" Point Repair With Pipe &					
29	SPEC	Couplings	10	EA	\$3,100.00	\$31,000.00	\$29,000.00
		8" Point Repair With Pipe &					
30	SPEC	Couplings	2	EA	\$3,200.00	\$6,400.00	\$6,800.00
		12" Point Repair With Pipe &					
31	SPEC	Couplings	1	EA	\$3,500.00	\$3,500.00	\$3,400.00
		16" Point Repair With Pipe &				,	·
32	SPEC	Couplings	1	EA	\$4,000.00	\$4,000.00	\$3,400.00
		Law Enforcement Officer As				,	•
33	SPEC	Required	40	HR	\$75.00	\$3,000.00	\$3,400.00
		Maintaining Traffic, per Repair w/o				,	
34	SPEC	Lane Closure	35	EA	\$200.00	\$7,000.00	\$1,925.00
		Maintaining Traffic, per Repair				,	•
35	SPEC	w/Lane Closure	35	EA	\$250.00	\$8,750.00	\$3,500.00
36	SPEC	Temporary Pavement	100	SY	\$30.00	\$3,000.00	\$2,500.00
37	SPEC	Permanent Pavement	100	CY	\$550.00	\$55,000.00	\$47,500.00

					Engineer	's Estimate	c. (not local)
Ref.					Lingmeet	3 Estimate	(not local)
No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
38	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$5,000.00
39	SPEC	Backfill For Emergency Repairs	600	CY	\$80.00	\$48,000.00	\$54,000.00
40	SPEC	Increase or Decrease in Excavation	200	CY	\$30.00	\$6,000.00	\$7,000.00
41	SPEC	Topsoil Furnished and Placed	50	CY	\$65.00	\$3,250.00	\$1,750.00
42	SPEC	Evening or Saturday Work Add-On	20	CREW HR	\$150.00	\$3,000.00	\$4,000.00
43	SPEC	Sunday Work Add-On	10	CREW HR	\$300.00	\$3,000.00	\$2,000.00
		Pipeline Installation Crew &					
44	SPEC	Equipment	100	HR	\$400.00	\$40,000.00	\$45,000.00
45	SPEC	Curb Ramp	5	EA	\$5,000.00	\$25,000.00	\$9,250.00
46	SPEC	Asbestos Pipe Repair and Disposal	3	EA	\$5,000.00	\$15,000.00	\$7,500.00
		Pipeline Materials for Water Main					
		Installations, Invoiced amount(s)					
47	SPEC	plus 15%	1	LS	\$40,000.00	\$40,000.00	\$40,000.00
		SUBTOTAL				\$490,500.00	\$457,725.00
		Contingency (10%)				\$49,050.00	\$45,772.50
		GRAND TOTAL				\$539,550.00	\$503,497.50
Ç	% DIFFER	ENCE FROM ENGINEER'S ESTIMATE					-6.68%
	% DIF	FERENCE WITHIN LOWEST BIDDER					3.0%
		(0) Addendum Ackldgmnt. Completed?					n/a
		Contract Compliance No.					/18, MAJ, 9944)
	Bid	Proposal Signature Affidavit Completed?					yes
		Bonding Company (Form B2)					/lutual Insurance
	Proposed Subs listed?						yes
	Bid Affidavit Complete? (Form B9)						yes
	Prime	& (applicable) Subs Prequalified to Bid?					yes

rand Total.

					Engineer	's Estimate	John Eran	no & Sons, Inc
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Materials	Labor
		Driveway Pavement Repl., Type III						
1	259	A	5	CY	\$500.00	\$2,500.00	\$200.00	\$350.00
		Driveway Pavement Repl., Type III						
2	259	В	5	CY	\$500.00	\$2,500.00	\$500.00	\$400.00
		Driveway Pavement Repl., Type III						
3	259	C	5	CY	\$70.00	\$350.00	\$30.00	\$40.00
4	605	4" Underdrain	50	LF	\$10.00	\$500.00	\$1.00	\$7.00
5	608	Concrete Walk 4"	500	SF	\$30.00	\$15,000.00	\$5.00	\$15.00
6	609	Curb, Straight 18"	50	LF	\$40.00	\$2,000.00	\$10.00	\$30.00
		Combination Curb & Gutter, Type						
7	609	Standard	30	LF	\$40.00	\$1,200.00	\$10.00	\$30.00
8	659	Seeding & Mulching	300	SY	\$6.00	\$1,800.00	\$1.00	\$3.00
		Concrete Blocking Class C, Increase						
9	801	or Decrease	10	CY	\$125.00	\$1,250.00	\$90.00	\$10.00
10	815	Crushed Stone or Gravel	10	CY	\$35.00	\$350.00	\$20.00	\$20.00
		3/4" Water Service Tap, Complete,						
11	SPEC	Short	10	EA	\$2,200.00	\$22,000.00	\$0.00	\$2,600.00
		1" Water Service Tap, Complete,						
12	SPEC	Short	2	EA	\$2,300.00	\$4,600.00	\$0.00	\$2,600.00
		1-1/2" Water Service Tap,						
13	SPEC	Complete, Short	1	EA	\$2,400.00	\$2,400.00	\$0.00	\$2,600.00
		2" Water Service Tap, Complete,						
14	SPEC	Short	1	EA	\$2,500.00	\$2,500.00	\$0.00	\$2,600.00
		3/4" Water Service Tap, Complete,				,		
15	SPEC	Long	6	EA	\$2,500.00	\$15,000.00	\$0.00	\$3,500.00
		1" Water Service Tap, Complete,				ŕ		•
16	SPEC	Long	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$3,500.00

					Engineer	Engineer's Estimate		o & Sons, Inc.
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Materials	Labor
1100		1-1/2" Water Service Tap,	20,1				1.200012002	200001
17	SPEC	Complete, Long	1	EA	\$2,700.00	\$2,700.00	\$0.00	\$3,500.00
		2" Water Service Tap, Complete,			7-,100100	+-,	·	. ,
18	SPEC	Long	1	EA	\$2,750.00	\$2,750.00	\$0.00	\$3,500.00
19		3/4" Water Service Repair	10	EA	\$2,100.00	\$21,000.00	\$0.00	\$2,200.00
20	SPEC	1" Water Service Repair	2	EA	\$2,200.00	\$4,400.00	\$0.00	\$2,200.00
21	SPEC	1-1/2" Water Service Repair	1	EA	\$2,300.00	\$2,300.00	\$0.00	\$2,200.00
22	SPEC	2" Water Service Repair	1	EA	\$2,400.00	\$2,400.00	\$0.00	\$2,200.00
23	SPEC	4" Point Repair With Clamp	1	EA	\$3,200.00	\$3,200.00	\$0.00	\$4,300.00
24	SPEC	6" Point Repair With Clamp	12	EA	\$3,500.00	\$42,000.00	\$0.00	\$4,300.00
25	SPEC	8" Point Repair With Clamp	2	EA	\$3,700.00	\$7,400.00	\$0.00	\$4,300.00
26	SPEC	12" Point Repair With Clamp	1	EA	\$3,800.00	\$3,800.00	\$0.00	\$4,300.00
27	SPEC	16" Point Repair With Clamp	1	EA	\$4,000.00	\$4,000.00	\$0.00	\$4,300.00
		4" Point Repair With Pipe &						
28	SPEC	Couplings	1	EA	\$3,000.00	\$3,000.00	\$0.00	\$4,300.00
		6" Point Repair With Pipe &						
29	SPEC	Couplings	10	EA	\$3,100.00	\$31,000.00	\$0.00	\$4,300.00
		8" Point Repair With Pipe &						
30	SPEC	Couplings	2	EA	\$3,200.00	\$6,400.00	\$0.00	\$4,300.00
		12" Point Repair With Pipe &						
31	SPEC	Couplings	1	EA	\$3,500.00	\$3,500.00	\$0.00	\$4,300.00
		16" Point Repair With Pipe &						
32	SPEC	Couplings	1	EA	\$4,000.00	\$4,000.00	\$0.00	\$4,300.00
		Law Enforcement Officer As						
33	SPEC	Required	40	HR	\$75.00	\$3,000.00	\$0.00	\$50.00
		Maintaining Traffic, per Repair w/o						
34	SPEC	Lane Closure	35	EA	\$200.00	\$7,000.00	\$0.00	\$30.00
		Maintaining Traffic, per Repair						
35	SPEC	w/Lane Closure	35	EA	\$250.00	\$8,750.00	\$0.00	\$125.00
36	SPEC	Temporary Pavement	100	SY	\$30.00	\$3,000.00	\$5.00	\$10.00
37	SPEC	Permanent Pavement	100	CY	\$550.00	\$55,000.00	\$125.00	\$350.00

Ref.					Engineer's Estimate		John Eramo & Sons, Inc.	
No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Materials	Labor
38	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$0.00	\$55.00
39	SPEC	Backfill For Emergency Repairs	600	CY	\$80.00	\$48,000.00	\$65.00	\$30.00
40	SPEC	Increase or Decrease in Excavation	200	CY	\$30.00	\$6,000.00	\$0.00	\$30.00
41	SPEC	Topsoil Furnished and Placed	50	CY	\$65.00	\$3,250.00	\$20.00	\$25.00
42	SPEC	Evening or Saturday Work Add-On	20	CREW HR	\$150.00	\$3,000.00	\$0.00	\$130.00
43	SPEC	Sunday Work Add-On	10	CREW HR	\$300.00	\$3,000.00	\$0.00	\$140.00
		Pipeline Installation Crew &						
44	SPEC	Equipment	100	HR	\$400.00	\$40,000.00	\$0.00	\$400.00
45	SPEC	Curb Ramp	5	EA	\$5,000.00	\$25,000.00	\$800.00	\$1,200.00
46	SPEC	Asbestos Pipe Repair and Disposal	3	EA	\$5,000.00	\$15,000.00	\$0.00	\$2,000.00
		Pipeline Materials for Water Main						
		Installations, Invoiced amount(s)						
47	SPEC	plus 15%	1	LS	\$40,000.00	\$40,000.00	\$0.00	\$40,000.00
		SUBTOTAL				\$490,500.00		
		Contingency (10%)				\$49,050.00		
		GRAND TOTAL				\$539,550.00		
(% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE						
	% DIF	FERENCE WITHIN LOWEST BIDDER						
		(0) Addendum Ackldgmnt. Completed?						
		Contract Compliance No.					31-0	0724866 (10/20
	Bid	Proposal Signature Affidavit Completed?						
		Bonding Company (Form B2)						Ohio Fa
		Proposed Subs listed?						
		Bid Affidavit Complete? (Form B9)						
	Prime	& (applicable) Subs Prequalified to Bid?						

					Engineer	's Estimate	(not local)	Park Ent
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension	Materials
		Driveway Pavement Repl., Type III						
1	259	A	5	CY	\$500.00	\$2,500.00	\$2,750.00	\$246.73
		Driveway Pavement Repl., Type III						
2	259	В	5	CY	\$500.00	\$2,500.00	\$4,500.00	\$211.26
		Driveway Pavement Repl., Type III						
3	259	C	5	CY	\$70.00	\$350.00	\$350.00	\$52.81
4	605	4" Underdrain	50	LF	\$10.00	\$500.00	\$400.00	\$2.33
5	608	Concrete Walk 4"	500	SF	\$30.00	\$15,000.00	\$10,000.00	\$2.82
6	609	Curb, Straight 18"	50	LF	\$40.00	\$2,000.00	\$2,000.00	\$12.82
		Combination Curb & Gutter, Type						
7	609	Standard	30	LF	\$40.00	\$1,200.00	\$1,200.00	\$22.85
8	659	Seeding & Mulching	300	SY	\$6.00	\$1,800.00	\$1,200.00	\$0.41
		Concrete Blocking Class C, Increase						
9	801	or Decrease	10	CY	\$125.00	\$1,250.00	\$1,000.00	\$210.07
10	815	Crushed Stone or Gravel	10	CY	\$35.00	\$350.00	\$400.00	\$48.01
		3/4" Water Service Tap, Complete,						
11	SPEC	Short	10	EA	\$2,200.00	\$22,000.00	\$26,000.00	\$576.17
		1" Water Service Tap, Complete,						
12	SPEC	Short	2	EA	\$2,300.00	\$4,600.00	\$5,200.00	\$576.18
		1-1/2" Water Service Tap,						
13	SPEC	Complete, Short	1	EA	\$2,400.00	\$2,400.00	\$2,600.00	\$936.28
		2" Water Service Tap, Complete,						
14	SPEC	Short	1	EA	\$2,500.00	\$2,500.00	\$2,600.00	\$936.28
		3/4" Water Service Tap, Complete,				•		
15	SPEC	Long	6	EA	\$2,500.00	\$15,000.00	\$21,000.00	\$1,416.43
		1" Water Service Tap, Complete,				•		
16	SPEC	Long	2	EA	\$2,600.00	\$5,200.00	\$7,000.00	\$1,416.43

					Engineer	's Estimate	(not local)	Park Ent
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension	Materials
		1-1/2" Water Service Tap,						
17	SPEC	Complete, Long	1	EA	\$2,700.00	\$2,700.00	\$3,500.00	\$1,776.54
		2" Water Service Tap, Complete,						
18	SPEC	Long	1	EA	\$2,750.00	\$2,750.00	\$3,500.00	\$1,776.54
19	SPEC	3/4" Water Service Repair	10	EA	\$2,100.00	\$21,000.00	\$22,000.00	\$474.15
20	SPEC	1" Water Service Repair	2	EA	\$2,200.00	\$4,400.00	\$4,400.00	\$474.14
21	SPEC	1-1/2" Water Service Repair	1	EA	\$2,300.00	\$2,300.00	\$2,200.00	\$474.14
22	SPEC	2" Water Service Repair	1	EA	\$2,400.00	\$2,400.00	\$2,200.00	\$474.14
23	SPEC	4" Point Repair With Clamp	1	EA	\$3,200.00	\$3,200.00	\$4,300.00	\$624.19
24	SPEC	6" Point Repair With Clamp	12	EA	\$3,500.00	\$42,000.00	\$51,600.00	\$624.19
25	SPEC	8" Point Repair With Clamp	2	EA	\$3,700.00	\$7,400.00	\$8,600.00	\$624.19
26	SPEC	12" Point Repair With Clamp	1	EA	\$3,800.00	\$3,800.00	\$4,300.00	\$624.19
27	SPEC	16" Point Repair With Clamp	1	EA	\$4,000.00	\$4,000.00	\$4,300.00	\$624.19
		4" Point Repair With Pipe &				·		
28	SPEC	Couplings	1	EA	\$3,000.00	\$3,000.00	\$4,300.00	\$624.19
		6" Point Repair With Pipe &				·		
29	SPEC	Couplings	10	EA	\$3,100.00	\$31,000.00	\$43,000.00	\$624.19
		8" Point Repair With Pipe &				•		
30	SPEC	Couplings	2	EA	\$3,200.00	\$6,400.00	\$8,600.00	\$624.19
		12" Point Repair With Pipe &				, , , , , , , , , , , , , , , , , , ,		
31	SPEC	Couplings	1	EA	\$3,500.00	\$3,500.00	\$4,300.00	\$624.19
		16" Point Repair With Pipe &				,		
32	SPEC	Couplings	1	EA	\$4,000.00	\$4,000.00	\$4,300.00	\$624.19
		Law Enforcement Officer As				•		
33	SPEC	Required	40	HR	\$75.00	\$3,000.00	\$2,000.00	\$8.02
		Maintaining Traffic, per Repair w/o				·		
34		Lane Closure	35	EA	\$200.00	\$7,000.00	\$1,050.00	\$60.02
		Maintaining Traffic, per Repair				. ,	,	
35	SPEC	w/Lane Closure	35	EA	\$250.00	\$8,750.00	\$4,375.00	\$180.05
36	SPEC	Temporary Pavement	100	SY	\$30.00	\$3,000.00	, and the second	\$33.61
37		Permanent Pavement	100	CY	\$550.00	\$55,000.00		

					Engineer	's Estimate	(not local)	Park Ent
Ref.								
No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension	Materials
38	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$5,500.00	\$34.82
39	SPEC	Backfill For Emergency Repairs	600	CY	\$80.00	\$48,000.00	\$57,000.00	\$75.75
40	SPEC	Increase or Decrease in Excavation	200	CY	\$30.00	\$6,000.00	\$6,000.00	\$15.00
41	SPEC	Topsoil Furnished and Placed	50	CY	\$65.00	\$3,250.00	\$2,250.00	\$38.41
42	SPEC	Evening or Saturday Work Add-On	20	CREW HR	\$150.00	\$3,000.00	\$2,600.00	\$0.00
43	SPEC	Sunday Work Add-On	10	CREW HR	\$300.00	\$3,000.00	\$1,400.00	\$0.00
		Pipeline Installation Crew &						
44	SPEC	Equipment	100	HR	\$400.00	\$40,000.00	\$40,000.00	\$0.00
45	SPEC	Curb Ramp	5	EA	\$5,000.00	\$25,000.00	\$10,000.00	\$852.86
46	SPEC	Asbestos Pipe Repair and Disposal	3	EA	\$5,000.00	\$15,000.00	\$6,000.00	\$2,304.70
		Pipeline Materials for Water Main						
		Installations, Invoiced amount(s)						
47	SPEC	plus 15%	1	LS	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
		SUBTOTAL				\$490,500.00		
		Contingency (10%)				\$49,050.00	\$49,077.50	
		GRAND TOTAL				\$539,550.00	\$539,852.50	
(% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE					0.06%	
	% DIF	FERENCE WITHIN LOWEST BIDDER					10.4%	
		(0) Addendum Ackldgmnt. Completed?					n/a	
		Contract Compliance No.					/17, MAJ, 4251)	
	Bid	Proposal Signature Affidavit Completed?					yes	
		Bonding Company (Form B2)					rmers Insurance	
		Proposed Subs listed?					yes	
		Bid Affidavit Complete? (Form B9)					yes	
	Prime	& (applicable) Subs Prequalified to Bid?					yes	Not evaluat

Corrected Cont

					Engineer	's Estimate	erprise Constr	uction Co.
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Labor	Extension
		Driveway Pavement Repl., Type III						
1	259	A	5	CY	\$500.00	\$2,500.00	\$186.39	\$2,165.60
		Driveway Pavement Repl., Type III						
2	259	В	5	CY	\$500.00	\$2,500.00	\$98.34	\$1,548.00
		Driveway Pavement Repl., Type III						
3	259	C	5	CY	\$70.00	\$350.00	\$53.35	\$530.80
4	605	4" Underdrain	50	LF	\$10.00	\$500.00	\$7.41	\$487.00
5	608	Concrete Walk 4"	500	SF	\$30.00	\$15,000.00	\$4.51	\$3,665.00
6	609	Curb, Straight 18"	50	LF	\$40.00	\$2,000.00	\$31.28	\$2,205.00
		Combination Curb & Gutter, Type						
7	609	Standard	30	LF	\$40.00	\$1,200.00	\$52.13	\$2,249.40
8	659	Seeding & Mulching	300	SY	\$6.00	\$1,800.00	\$10.23	\$3,192.00
		Concrete Blocking Class C, Increase						
9	801	or Decrease	10	CY	\$125.00	\$1,250.00	\$29.23	\$2,393.00
10	815	Crushed Stone or Gravel	10	CY	\$35.00	\$350.00	\$34.38	\$823.90
		3/4" Water Service Tap, Complete,						
11	SPEC	Short	10	EA	\$2,200.00	\$22,000.00	\$1,481.63	\$20,578.00
		1" Water Service Tap, Complete,			1	,		
12	SPEC	Short	2	EA	\$2,300.00	\$4,600.00	\$1,481.63	\$4,115.62
		1-1/2" Water Service Tap,			1			
13	SPEC	Complete, Short	1	EA	\$2,400.00	\$2,400.00	\$1,481.64	\$2,417.92
		2" Water Service Tap, Complete,				, , , , , , , , , , , , , , , , , , ,		·
14	SPEC	Short	1	EA	\$2,500.00	\$2,500.00	\$1,481.64	\$2,417.92
		3/4" Water Service Tap, Complete,				,		
15	SPEC	Long	6	EA	\$2,500.00	\$15,000.00	\$1,481.63	\$17,388.36
		1" Water Service Tap, Complete,				,	,	·
16	SPEC	Long	2	EA	\$2,600.00	\$5,200.00	\$1,481.63	\$5,796.12

					Engineer	's Estimate	erprise Constr	uction Co.
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Labor	Extension
		1-1/2" Water Service Tap,						
17	SPEC	Complete, Long	1	EA	\$2,700.00	\$2,700.00	\$1,481.64	\$3,258.18
		2" Water Service Tap, Complete,						
18	SPEC	Long	1	EA	\$2,750.00	\$2,750.00	\$1,481.64	\$3,258.18
19	SPEC	3/4" Water Service Repair	10	EA	\$2,100.00	\$21,000.00	\$1,111.22	\$15,853.70
20	SPEC	1" Water Service Repair	2	EA	\$2,200.00	\$4,400.00	\$1,111.23	\$3,170.74
21	SPEC	1-1/2" Water Service Repair	1	EA	\$2,300.00	\$2,300.00	\$1,111.22	\$1,585.36
22	SPEC	2" Water Service Repair	1	EA	\$2,400.00	\$2,400.00	\$1,111.22	\$1,585.36
23	SPEC	4" Point Repair With Clamp	1	EA	\$3,200.00	\$3,200.00	\$3,704.08	\$4,328.27
24	SPEC	6" Point Repair With Clamp	12	EA	\$3,500.00	\$42,000.00	\$3,704.07	\$51,939.12
25	SPEC	8" Point Repair With Clamp	2	EA	\$3,700.00	\$7,400.00	\$3,704.07	\$8,656.52
26	SPEC	12" Point Repair With Clamp	1	EA	\$3,800.00	\$3,800.00	\$3,704.08	\$4,328.27
27	SPEC	16" Point Repair With Clamp	1	EA	\$4,000.00	\$4,000.00	\$3,704.08	\$4,328.27
		4" Point Repair With Pipe &				·		
28	SPEC	Couplings	1	EA	\$3,000.00	\$3,000.00	\$3,704.08	\$4,328.27
		6" Point Repair With Pipe &				·		
29	SPEC	Couplings	10	EA	\$3,100.00	\$31,000.00	\$3,704.07	\$43,282.60
		8" Point Repair With Pipe &				·		
30	SPEC	Couplings	2	EA	\$3,200.00	\$6,400.00	\$3,704.08	\$8,656.54
		12" Point Repair With Pipe &						
31	SPEC	Couplings	1	EA	\$3,500.00	\$3,500.00	\$3,704.08	\$4,328.27
		16" Point Repair With Pipe &				•		•
32	SPEC	Couplings	1	EA	\$4,000.00	\$4,000.00	\$3,704.08	\$4,328.27
		Law Enforcement Officer As				·		
33	SPEC	Required	40	HR	\$75.00	\$3,000.00	\$70.00	\$3,120.80
		Maintaining Traffic, per Repair w/o				. ,		,
34		Lane Closure	35	EA	\$200.00	\$7,000.00	\$58.46	\$4,146.80
		Maintaining Traffic, per Repair				. ,		,
35	SPEC	w/Lane Closure	35	EA	\$250.00	\$8,750.00	\$233.85	\$14,486.50
36	SPEC	Temporary Pavement	100	SY	\$30.00	\$3,000.00		\$5,939.00
37		Permanent Pavement	100	CY	\$550.00	\$55,000.00		· · · · · · · · · · · · · · · · · · ·

					Engineer	's Estimate	erprise Constru	uction Co.
Ref.								
No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Labor	Extension
38		Heat Welding	100	SY	\$75.00	\$7,500.00		\$6,482.00
39	SPEC	Backfill For Emergency Repairs	600	CY	\$80.00	\$48,000.00		\$65,658.00
40	SPEC	Increase or Decrease in Excavation	200	CY	\$30.00	\$6,000.00		\$9,256.00
41	SPEC	Topsoil Furnished and Placed	50	CY	\$65.00	\$3,250.00		\$4,737.00
42	SPEC	Evening or Saturday Work Add-On	20	CREW HR	\$150.00	\$3,000.00	\$155.69	\$3,113.80
43	SPEC	Sunday Work Add-On	10	CREW HR	\$300.00	\$3,000.00	\$311.38	\$3,113.80
		Pipeline Installation Crew &						
44	SPEC	Equipment	100	HR	\$400.00	\$40,000.00	\$531.22	\$53,122.00
45	SPEC	Curb Ramp	5	EA	\$5,000.00	\$25,000.00	\$122.97	\$4,879.15
46	SPEC	Asbestos Pipe Repair and Disposal	3	EA	\$5,000.00	\$15,000.00	\$3,127.66	\$16,297.08
		Pipeline Materials for Water Main						
		Installations, Invoiced amount(s)						
47	SPEC	plus 15%	1	LS	\$40,000.00	\$40,000.00	\$0.00	\$40,000.00
		SUBTOTAL				\$490,500.00		\$521,629.49
		Contingency (10%)				\$49,050.00		\$52,162.95
		GRAND TOTAL			•	\$539,550.00		\$573,792.44
(% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE						6.35%
	% DIF	FERENCE WITHIN LOWEST BIDDER						17.4%
		(0) Addendum Ackldgmnt. Completed?						n/a
		Contract Compliance No.						
	Bid	Proposal Signature Affidavit Completed?						
		Bonding Company (Form B2)						
		Proposed Subs listed?						
		Bid Affidavit Complete? (Form B9)						
	Prime	& (applicable) Subs Prequalified to Bid?					ed; top 3 bidders	s responsive.
		VII					in con ext & Cron	<u> </u>

ingency & Grand Total